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6. laboratorni prace
Ovéreni Archimédova zakona

pomiicky:silomér, Ith, voda, slani voda, valec

1. méfeni silomérem
v = 8,5cm (vyska valce)
d =2,9cm (primér valce)
r=1,45cm (polomer v.)

| lih(p=811kg/m’) | voda(9=998kg/m’) | sl voda(p=1164kg/m’)
FgN) |07 0,7 0,7
FN) [025 0,15 0,1
Fvz (N) | 0,45 0,55 0,6
2. ovéieni
V=g.rt-v
V=r-1,45%8,5
V=56,144cm*=0,0000561
a) lih Fvz=V-¢-g
Fvz = 0,0000561 - 811 - 9,81
Fvz =0,446N
b) voda Fvz=V-¢-g
Fvz = 0,0000561 - 998 - 9,81
Fvz =0,549N

¢) slanavoda Fvz=V-¢-g
Fvz =0,0000561 - 1164 - 9,81
Fvz = 0,641N





